ey > 37

1 -
\\\b f
O
h 0-9 R add =
— — e ] MM._- \Q@ \ < e
T | ——r = . !
ﬁ/MH\\ I n = e o002 %he |l Oy
h 1 :1%
oL ; — P2 > _ M iR .
: 55 PV T TTF v, \B e
; il At ‘,\. S8’ :oyx_m “a 4 i \ / i\ /s e M M
; m . { | A ‘
. NN T & / Az M o
z ZARN L snoa - fa / ) s s
i 74 A “ T3l N AL o/Ne %z 8
=7 N Jﬁ b4 / i e
1 \\ N\ S9%E I -
1 /// “ §§
b W\ ! L \
\ /N/ “ \ m \ w
IRy74 SNl .
iV e T
7
S-W3INID LY Qod Y N T £ 3
R N 93 - o
<. ﬁ _ 3
M &
{ 2T |

30334 4736 AVH IdALIONIS

A
&

QAATNRQA-24d
SYTOHTIVN Y

S3MIAS POY SO
U3Q3 3 ONIMTILS
W04 3ivo 0-21

A

o

] ~— SNOILI3S O-v1 H0 921~ T 1m
] in] n n n -
ER L OE I
[ f Q%3 H ,
= T |

AUIH AVH ATVR

0 QAddOHD 'IS00T HIVIS

LX)



~eh 2V a7

YiNQE G334 JOVHS ANV HIVEO T18VINO0d

MIATA NI MIIA 3QIS
| : = _ W3awal 30 3716 e -2 _
[ SET 1 0l NOISN3WIQ 1Saray | Q-2 . g
m— — y*¥ hd
® H ® \ b _ /\.
1 N P
® lee Xy o |le : YONV, 2X2 %, o
. —— |
X2 T . 7 qagam="|[ 4
- i S e e B mc(__ﬁm WD ya2—y ) 52e
: S i »wst ~¥ — o \Jm
g m 01%2 NP s $110Q 7 0%z I
) ’ ) F oﬁ_m 3 ®
L , ;
: : 2 2
VIR LTIHE HLm 7 NP P

WVIYILVIN 20 STHD

"0 AOVd

TIDV0ANITY SHINGOD ﬁ

JQIGN! 238
=S1ON

WIACTIS IOWIS B0 NIVED-AVH IEVLH0d

NOILIIS




BILLS OF MATERIAL
g

PORTABLE HAY=GRAIN OR SILAGE FEREDER PORTABLE GRAIN AND SILAGE FEED BUNK
Lumber Lumber
2 pce 4" x 4" 3 16'~0 runners 2 pcs 4" x é: ¥ 12'-0" runners
6 pcs 4" x 4% x gtgn posts 4 pes 4" x 4" x 212" posts
4 pcs 2" x 10" x 4"-0" end boards 4 pcs 2" x 6? x 3'-6" cross braces
2 pcs 2" x 2-1/8" x 4'-0" end boards 1 pcs 2: % 4'|X 2’~10”'c1§aﬁ
8 pcs 2" x 6" ¥ 4'-0 end and center 2 pcs 2" X 10: X 14'“9' sides ;
boards 3 pes 2" x 10" x 2'-9" ends and center
2 pcs 2" x 12" x 14'-0" side boards _ Dieces
2 pcs 2 x 10 x 14'-0" side boards 4 pcs 2" x 8" x 14'-0" floor of bunk
2 pcs 2" x 6" x 14"-0" gside boards Hardware
56 sg. ft. floor material . 8 ~ 1/2" x 6" machine bolt
Hardway 8 - 1/2" x 7-1/2" machine bolts
64 - 3/8" x 6" machine bolts 16 — 8/8" x 5" machine bolts
128 washers 32 - 1/2" washers ’
2 1b. 16 d spikes : 16 - 3/8" washers
2 1b. 8 d nails 4 angle irons 1/8" x 2" x 2"-16" long
: 4 pcs 6" x 9" x 20 guage sheet metal -
1 1b. 4 4 nails ‘
2-1/2 1b, 16 d nails
PORTABLE HAY FEEDER
Bill of materials . Hardware
n n 2 k
Lumber - x 6" machine bolts
2 pcs. 4" x 4" x 16' -~ 0" runners fé - ?583 Was&ers '
6 pcs 4" x 4" x 15'-Q" posts ¥ - 1/4" x 6" machine bolts
Z pcs 2" x 10" x 6'-0" feed trough = 174" washers
2 pcS 2" x 10" x 14'-0" feed trough o 1b. 18 d spikes
10 pcs 2" x 6" x 6'-0" end boards 8 1b. 10 4 nails
31cs 2" x 6" x 6'~0" runner braces 2 1b. 84 §§1ls
2 pes 2: x 4: x il—g: c;ossbbraces ._TOP EXTENSION
B bes 20 % 4" x dogn oige br2®® Lumber
1 pes 2" x 4" x 14'-0" floor joist 6 pes 4 x 4 x 50 posts
8 pcs 2" x 4" x 5'-4" floor joist 2 pcs 2 x 6 x 14-0 side boards
: cross brace 2 pcs 2 x 6 x 6'~-8" side boards
. 2 pcs 1 x 6 x 14~0 side boards
84 « ft., floor material )
81 ;gs 2" x 6S : 6'—0"1crib boards 2pcs 1 x 6 x 6' x 8" side boards
1 pc

4" x 4" x 14'-0" floor center Hardwa
: Piece T 1b, %0 d nails

12 - 1/2 x 8" machine bolts
20 - 8/8" x 6" machine bolts
24 1/2" washers
40 3/8" washers '

The extension on the portable hay feeder should be used whenever
the feeder will be filled with a hydraulic fork. 1" x 6" crib'
boards and end boards can be substituted for the 2" x 6"'g
shown if the extension will not be used. Predrill all holes
for 16 d spikes with a 1/8" drill to avoid splitting the
lumber. If spikes are substituted for bolts, use four 40 4
spikes at each joint on the 2" x.10"'s and two 40 d spikes on
each 2 x 6. Predrill all holes with a 8/16 drill to avoid
splitting., Insert each apike in a 1/4 inch washer to-giie
greater holding strength at the nail head.

Pe- GRe-




